WRITTEN SUBMISSION FROM ROGER HUMPHRY
In response to the consultation I'd like to make the following points:
The Bill provides that from the year 2020, the annual emissions targets must be set so
that each is at least 3% lower than the target for the previous year. Prior to 2020, the
Scottish Government has indicated that it intends to set annual targets which build
towards delivering emissions reductions of at least 3% each year.
What are your views on this approach or any possible alternative approaches?
The minimum 3% reduction p.a. should apply from 2010 onwards.
The Bill defines “Scottish emissions”, in relation to a greenhouse gas, as being
emissions of that gas which are attributable to Scotland. The policy memorandum
states that “Scottish emissions” are defined as being those greenhouse gases which
are emitted in Scotland or which represent the Scottish share of emissions of gases
from international aviation and international shipping.
What are your views on this definition of Scottish emissions?

International shipping and aviation should be included from the outset.

Yours
Roger Humphry



